Name: _______________________________________________________
Extra Credit/Make-up Work Packet GEOMETRY  
USE YOUR OWN PIECE OF PAPER TO SOLVE

	1. 
	Determine the value of x.
[image: ]
	2. 
	A is the midpoint of .  CA = ?
[image: ]

	3. 
	, CD = ?
[image: ]
	4. 
	MN = ?
[image: ]

	5. 
	R is the midpoint of .  PS = 4x – 4, and 
PR = x + 9.  PS = ?
	6. 
	M is the midpoint of .  MN = 4x – 6, 
LN = 8x – 10, and LM = 2x + 8.  LM = ?

	7. 
	x = ?
[image: ]
	8. 
	x = ?
[image: ] 

	9. 
	 bisects .  , and .  
	10. 
	H is the midpoint of .  GH = 9x – 2, and 
GK = 19x – 7.  HK =?

	11. 
	 goes through .  ,  and .  
	12. 
	P is on .  NP = 5x – 1, PO = 3x + 2, and 
NO = 10x -3.  PO = ?  


	13. 
	M is between L and N.  LN = 8x, LM = 3x + 5, and MN = 4x + 6.  LM = ?
	14. 
	N is between points A and T.  AN = 4x – 7, 
NT = 3x + 5, and AT = 6x + 8.  NT =?

	15. 
	F is the midpoint of .  EF = 5x + 6 and 
FG = 7x – 8.  EF = ?
	16. 
	 bisects .   and .

	17. 
	T is the midpoint of .  ST = 4x and SV = 9x – 6.  SV = ?
	18. 
	 bisects .   and .

	19. 
	x = ?  
[image: ]
	20. 
	 goes through .  , , and .  

	21. 
	H is the midpoint of segment FG.  FH = x – 4 &
HG = 3x – 16.  FG = ?
	22. 
	 bisects .  , and .  

	23. 
	P is on segment NR.  NP = 4x + 7, NR = 6x + 12, and PR = 3x – 1.  NP = ?
	24. 
	, , and .  

	25. *
	What property or postulate is shown below?
x = 4, so 2x = 2(4)
	26. 
	

	27. 
	28. x = ?
[image: ]
	29. 
	30. x = ?
[image: ]

	31. *
	Complete the proof.
	p || q
	 Given

	
	______________________


[image: ]
	32. *
	Complete the proof.
	
	 Given

	p || q
	 _____________________


[image: ]

	33. *
	Complete the proof.
	p || q
	 Given

	
	______________


[image: ]
	34. 
	x = ?  
[image: ]

	35. 
	 goes through .  , and .  
	36. 
	R is the midpoint of segment QS.  QR = 2x + 7 & 
RS = 5x – 14.  QS = ?

	37. 
	 goes through .  ,  and .  
	38. *
	What property or postulate is shown below?
AB + BC = AC


	39. 
	
[image: ]
	40. 
	
[image: ]

	41. 
	Determine the measure of x.
[image: ]
	42. *
	Determine the value of x.
[image: ]

	43. 
	Determine the value of x.
[image: ]
	44. *
	Complete the proof.

	Statements
	Reasons

	1 and 2 are corresponding angles
	Given

	12
	Given

	r || s
	___________?_____________




	45. 
	 bisects .     = 3x + 1 and
 = 7x – 15.   = ?
	46. 
	R is between Q and S.  QS = 9x – 4, QR = 2x + 3, and
RS = 5x + 5.  QS = ?


	47. 
	Determine the measure of x.
[image: ]
	48. 
	Determine the value of x.      
                [image: ]

	49. 
	Determine the value of x.
   [image: ]
	50. 
	Determine the value of x. [image: ]

	51. *
	What property proves the triangles are congruent?
[image: ]
	52. *
	What property proves the triangles are congruent?
[image: ]

	53. *
	What property proves the triangles are similar?
[image: ]
	54. *
	What property proves the triangles are similar?
[image: ]

	55. 
	B is the midpoint of A and C.  AB= 5x – 3, and 
AC = 8x + 4, and BC = ?
	56. 
	N is the midpoint of segment MP.  M(2, 7) and 
P(8, 11).  What are the coordinates of N?

	57. *
	Complete the proof.
	Statements
	Reasons

	
	Given

	
	_______?_________



	58. 
	Sean folded the triangular piece of paper below.  Determine the value of x.
[image: ]

	59. 
	ACD KMN.  Determine the value of x.
[image: ]
	60. 
	LMN PQR. The similarity ratio is .  x = ?
[image: ]

	61. *
	What property, if any, proves the triangles congruent?
[image: ]
	62. 
	[image: ]

	63. 
	[image: ]
	64. 
	[image: ]

	65. 
	R is the midpoint of .  QR = 6x – 2 and 
RS = 4x + 8.  QS = ?
	66. 
	[image: ]

	67. 
	[image: ]
	68. 
	What fraction does  equal?
[image: ]

	69. 
	[image: ]
	70. 
	[image: ]

	71. 
	[image: ]
	72. 
	S is the midpoint of segment RT.  RT = 9x – 3 and ST= 3x + 6.  RS = ?

	73. 
	[image: ]
	74. 
	[image: ]

	75. 
	 ?
[image: ]
	76. 
	= ?
	[image: ]

	77. 
	MN = ?
	[image: ]
	78. 
	QS = ?
	[image: ]

	79. 
	x = ?
[image: ]
	80. 
	;  AB = ?
[image: ]

	81. 
	x = ?
[image: ]
	82. 
	
[image: ]

	83. 
	AB = ?
[image: ]
	84. 
	
[image: ]

	85. 
	F is on.  EF = 9, FG =  12.  EG = ?
	86. 
	D is between C and E.  CE = 5x – 4, CD = 2x + 3, and DE = 2x + 5.  CE = ?

	87. 
	M is on .  LN = 19x + 6, MN = 12x + 8, and            LM = 2x + 3.  MN = ?
	88. 
	 goes through .   and .  

	89. 
	 goes through .  , and .  
	90. 
	M is the midpoint of the segment.  MY = ?
[image: ]

	91. 
	L is the midpoint of .  KL = 3x + 1 and                 LM = 5x – 5.  KM = ?
	92. 
	S is the midpoint of . RS = 5x – 3 and                    RT = 12x – 10.  RT = ?

	93. 
	 bisects.   
[image: ]
	94. 
	  EF = ?
[image: ]

	95. 
	 bisects .   and .  
	96. 
	 bisects .   and .  

	97. 
	A is between C and M  CA = 3x + 4, AM = 2x – 2, and CM = 6x – 8.  AM = ?
	98. 
	 bisects .  , and .  

	99
–
103.
*
	Given:   and   are vertical angles.  
 and 
Prove:  

	 &
	Given

	 and   are vertical 
	99. _____________

	 
	Def. Vertical Angles

	
	100. _____________

	
	Substitution Prop. =

	x – 5 = 2
	101. _____________

	x = 7
	102. _____________

	
	Substitution Prop. =

	
	103. _____________



	104
 –
108.
*
	Given:  G is between F and H.  FH = 5x + 3, 
              FG = 2x + 9, and GH = x + 2.
Prove:  FG = 17

	FG + GH = FH 
	104. ______________

	FH = 5x + 3, FG = 2x + 9, 
and GH = x + 2
	Given

	
	Substitution

	
	105. ______________

	
	106. ______________

	8 = 2x
	Subtr. Prop. =

	4 = x
	Division Prop. =

	x = 4
	107. ______________

	FG = 2(4) + 9
	108. ______________

	FG = 8 + 9
	Simplify

	FG = 17
	Simplify




	109. 
	B is the midpoint of AC.  AB = 8x – 2 and 
BC = 7x + 3.  AC = ?
	110. 
	K is between J and L.  JL = 9x – 3, JK = 2x + 12, and KL = 4x – 3.  JL = ?

	111. 
	Ray AT goes through PAN.  PAN = (32x - 10)˚, PAT = (4x + 25)˚, TAN = (16x + 1)˚. 
 PAT = ?
	112. 
	Ray OA bisects BOT.  BOA = (5x – 12)o and AOT = (3x + 6)o, BOT=66 o.  x = ?

	113. 
	Determine the measure of x.
[image: ]
	114. 
	Determine the measure of y.
[image: ]

	115. 
*
	Complete the proof.
	1 and 2 are a linear pair.  
	Given

	1 + 2 = 180 o
	_____________



	116. 
*
	Complete the proof.
	m3 = 30˚ & m3 + m4 = 180˚
	Given

	30˚ + m4 = 180˚
	_______________




	117. 
	APE = ?
[image: ]
	118. 
	FIJ = ?
[image: ]

	119. 
	KIT = ?
[image: ]
	120. 
	SIM = ?
[image: ]

	121. 
*
	Given: 
Prove:
[image: ]
	Statements
	Reasons

	
	Given

	
	_______________



	122. 
*
	Given:  
Prove:  
[image: ]
	Statements
	Reasons

	
	Given

	
	_______________




	123. 
	M is between L and N.  MN = 6x + 2, 
LM = 2x + 3, and LN = 9x – 4.  MN = ?
	124. 
	 bisects .  and .  

	125. 
	x = ?
[image: ]
	126. 
	x = ?
	[image: ]

	127. 
	L is between K and M.  KM = 6x – 2, LM = 2x + 4, and KL = 3x + 6.  KL = ?

	128. 
	x = ?
[image: ]

	129. 
	x = ?
[image: ]
	130. 
	x = ?
	[image: ]

	131. 
	Determine .
[image: ]
	132. 
	[image: ]

	133. 
	x = ?
[image: ]
	134. 
	[image: ]

	135. 
	.  MN = ?
	[image: ]
	136. 
	x = ? 
	[image: ]

	137. 
*
	The triangles below are congruent by what property?
	[image: ]
	138. 
*
	The triangles below are congruent by what property?
	[image: ]

	139. 
*
	If L is the midpoint of segment KM, then the triangles are congruent by what property?
	[image: ]
	140. 
*
	The triangles below are similar by what property?
	[image: ]


	141. 
*
	The triangles below are similar by what property?
	[image: ]
	142. 
	x = ?
[image: ]


	143. 
	x = ?
	[image: ]
	144. 
	x = ?
[image: ]

	145. 
	x = ?
	[image: ]
	146. 
	Determine the area of the triangle.
[image: ]

	147. 
	Two angles of a triangle are 51˚ and 63˚.  Determine the measure of the third angle.
	148. 
	[image: ]

	149. 
	[image: ]
	150. 
	[image: ]

	151. 
	[image: ]
	152. 
	[image: ]

	153. 
	x = ?
[image: ]
	154. 
	;  AB = ?
[image: ]

	155. 
	x = ?
[image: ]
	156. 
	
[image: ]

	157. 
	NP = ?
[image: ]
	158. 
	
[image: ]

	159. 
	M is on .  LM = 5, LN =  12.  MN = ?
	160. 
	R is between Q and S.  QR = 8x + 7, QS = 12x – 3, and 
RS = 2x + 4.  QR = ?

	161. 
	T is on .  ST = 9x + 1, TV = x + 5, and 
SV = 12x – 4.  ST = ?
	162. 
	 goes through .   and .  

	163. 
	 goes through .  , and .  
	164. 
	Q is the midpoint of .  PQ = 10x and QR = 8x + 4.  
PR = ?

	165. 
	D is the midpoint of . CE = 12x – 8 and                 CD = 4x + 4.  CD = ?
	166. 
	A is the midpoint of the segment.  AT = ?
[image: ]

	167. 
	 bisects.   
[image: ]
	168. 
	Determine the measure of y.
[image: ]

	169. 
	 bisects .   and .  
	170. 
	 bisects .   and .  

	171. 
	H is between T  and E.  TH = 5x – 2, 
TE = 7x + 4, and HE = x + 12.  TE = ?
	172. 
	 bisects .  , and .  

	173. 
	  CD = ?
[image: ]
	174. 
	Determine the measure of x.
[image: ]

	175
–
179.
*
	Given:   and   are a linear pair.  
 and
Prove:  

	 and 
	175. _______

	 and   are a linear pair
	Given

	
	176. _______

	
	177. _______

	10x + 60 = 180˚
	Simplify

	10x = 120˚
	178. _______

	x = 12˚
	Div. Prop. =

	
	179. _______

	
	Simplify



	180 
–
184.
*
	Given:   goes through .  , 
, and .
Prove:  

	
	180. ___________

	

	Given

	
	181. ___________

	
	182. ___________

	
	183. ___________

	16 = x
	Add Prop. =

	x =16
	184. ___________




	185. 
	B is the midpoint of segment AC.  AB = 4x + 3 and BC = 7x – 15.  AC = ?
	186. 
	K is between J and L.  JL = 7x – 6, JK = x + 7, and 
KL = 3x – 1.  JL = ?

	187. 
	Ray AT goes through PAN.  
PAN = (25x – 5)˚, PAT = (12x + 10)˚, TAN = (8x + 5)˚.  PAT = ?
	188. 
	Ray OA bisects BOT.  BOA = (2x + 10)o and 
AOT = (3x – 15)o, BOT=120 o.  x = ?

	189. 
	Complete the proof.
	1 and2 are supplementary.  
	Given

	1 + 2 = 180 o
	_________



	190. 
	Complete the proof.
	3 = 4
	Given

	3  4
	___________________




	191. 
	QRS = ?
[image: ]
	192. 
	FGH = ?
[image: ]

	193. 
	ABC = ?
[image: ]
	194. 
	DEF = ?
[image: ]	

	195. 
	Given: 
Prove:
[image: ]
	Statements
	Reasons

	
	Given

	
	_____________



	196. 
	Given:
Prove:  m<3 + m<4 = 180˚
[image: ]
	Statements
	Reasons

	
	Given

	m<3 + m<4 = 180˚
	________________




	197. 
	L is between K and M.  KM = 4x – 7, 
LM = x + 1, and KL = 2x + 3.  KM = ?
	198. 
	 bisects .  and .  .

	199. 
	x = ?
[image: ]
	200. 
	x = ?
	[image: ]

	201. 
	x = ?
[image: ]
	202. 
	x = ?
	[image: ]

	203. 
	Determine .
[image: ]
	204. 
	[image: ]

	205. 
	[image: ]
	206. 
	[image: ]

	207. 
	.  AB = ?
	[image: ]
	208. 
	x = ? 
	[image: ]

	209. 
*
	The triangles below are congruent by what property?
	[image: ]
	210. 
*
	The triangles below are congruent by what property?
	[image: ]

	211. 
*
	If R is the midpoint of segment QS, then the triangles are congruent by what property?
	[image: ]
	212. 
	The triangles below are similar by what property?
	[image: ]

	213. 
*
	The triangles below are similar by what property?
	[image: ]
	214. 
	x = ?
[image: ]

	215. 
	R is between Q and S.  QR = 4x – 7, 
QS = 8x – 9, and RS = 2x + 4.  QR = ?
	216. 
	x = ?
[image: ]

	217. 
	x = ?
	[image: ]
	218. 
	x = ?
[image: ]

	219. 
	x = ?
	[image: ]
	220. 
	Determine the area of the triangle.
[image: ]

	221. 
	Two angles of a triangle are 37˚ and 45˚.  Determine the measure of the third angle.
	222. 
	[image: ]

	223. 
	[image: ]
	224. 
	[image: ]

	225. 
	[image: ]
	226. 
	[image: ]

	227. 
	  
	228. 
	.  


	229. 
	    If the similarity ratio is , then 
	230. 
	  If the similarity ratio is , what is AB?

	231. 
	 and .  

[image: ]
	232. 
	 and . 

[image: ]

	233. 
	 and .  
[image: ]
	234. 
	 and .  

[image: ]

	235. 
	

[image: ]
	236. 
	

[image: ]

	237. 
	

[image: ]
	238. 
	

[image: ]

	239. 
	Determine the midpoint of .  and .
	240. 
	Determine the distance of the segment with endpoints  & .

	241. 
	Use slope to determine if  are parallel, perpendicular, or neither. .
	242. 
	Use slope to determine if  are parallel, perpendicular, or neither. .

	243. 
	Determine the midpoint of  and .
	244. 
	Determine the midpoint of .  and.

	245. 
	Determine the distance of the segment with endpoints  & .
	246. 
	Determine the distance of the segment with endpoints  & .

	247. 
	Determine the midpoint of  and .
	248. 
	Determine the distance of the segment with endpoints  & .

	249. 
	On , 

	250. 
	On , 


	251. 
	

	252. 
	


	253. 
	


	254. 
	



	255. 
	 goes through .  , , and . 
	256. 
	.  



	257. 
	

	258. 
	 and  are a linear pair.  
.  

	259. 
	 and  are vertical angles.  
.  
	260. 
	


	261. 
	 and . 
[image: ]
	262. 
	 and . 
[image: ]

	263. 
	E is on .  DE = 6x – 5, DF = 15x – 19, and 
EF = 7x + 6.  DF = ?
	264. 
	


	265. 
	 goes through. , , and .  
	266. 
	 bisects .  


	267. 
	B is on .  
.  AB = ?
	268. 
	


	269. 
	L is the midpoint of .  
.  EK = ?
	270. 
	 bisects .  


	271. 
	N is the midpoint of 

	272. 
	 bisects 


	273. 
	


	274. 
	



	275. 
	 and  are supplementary angles.  
.
	276. 
	


	277. 
	 and  are supplementary angles.  


	278. 
	 are supplementary angles.  



	279. 
	 and  are complementary angles. 
 and . 
	280. 
	 and  are complementary angles.  


	281. 
	In the diagram below, AD = 760 miles, CD = 340 miles, and C is the midpoint of .  Find AB.
[image: ]
	282. 
	 and .  Find .
[image: ]

	283. 
	Complete the two-column proof.
Given:   and  are a linear pair.  
Prove:  = 74˚
	Statements
	Reasons

	1.   &  are a linear pair.  

	1.  Given

	2.  
	2.  [?]

	3.  
	3.  Subst. Prop. =

	4.  
	4.  Subtr. Prop. =



	284. 
	Complete the two-column proof.
Given:  
Prove: 
[image: ]
	
	Given

	
	Segment Addition

	
	Segment Addition 

	
	[?]

	
	Subtraction Property of Equality




	285. 
	Find .
[image: ]
	286. 
	Find .
[image: ]

	287. 
	mABC = 62° and mCBD = 36°.  
Find mABD.
[image: ]
	288. 
	PQRLMR and mM = 42˚, find mPRQ.
[image: ]

	289. 
	Find mPQR.
[image: ]
	290. 
	Find mABC.
[image: ]

	291. 
	Find the values of x and y. Express your answers in simplest radical form.
[image: ]
	292. 
	Laura folded a triangular sheet of paper into the shape shown.  Find mNLO, given mLON = 50°, 
mONP = 35°, and mNMP = 85°.
[image: ]

	293. 
	[image: ]
	294. 
	Find the length of the line segment with endpoints 
(-2, 5) and (1, 11).  Write your answer in the simplest radical form.

	295. 
	Find mPQR.
     [image: ]
	296. 
	In the diagram below, LJ = 520 miles, LG= 185 miles and H is the midpoint of.  Find GH.
[image: ]

	297. 
	Find the coordinates of the midpoint of  with endpoints P(4, 6) and M(9, -4).
	298. 
	Find the coordinates of the midpoint of  with endpoints A(1, 5) and M(-3, 9).

	299. 
	Find the length of the line segment with endpoints (-2, 8) and (4, 12).  Write your answer in the simplest radical form.
	300. 
	G is the midpoint of .  G has coordinates (4, 1) and H has coordinates (3, 6). What are the coordinates of F?

	301. 
	What is mBGU?
[image: ]
	302. 
	Frank folded a triangular sheet of paper into the shape shown.  Find mRAW, given mLCR = 85°, 
mCRL = 55°, and mARW = 80°.
[image: ]

	303. 
	mABD = 107° and mCBD = 49°.  Find mABC.
[image: ]
	304. 
	 and .  Find .
[image: ]

	305. 
	In the diagram below, RC = 450 miles, VC = 50 miles, and A is the midpoint of .  Find AV.
[image: ]
	306. 
	Find .
[image: ]

	307. 
	Find .
[image: ]
	308. 
*
	Identify the angle that is same side interior to .
[image: ]

	309. 
	Find .
[image: ]
	310. 

	What postulate or theorem, if any, can be used to prove that KNLMNL?
[image: ]

	311. 
	Simone folded a triangular sheet of paper into the shape shown.  Find .
[image: ]
	312. 
	What is ?
[image: ]

	313. 
	Given that PQR TSR, , and , find .
[image: ]
	314. 
	What postulate or theorem will prove that 
STWVTW?
[image: ]

	315. 
	Determine .
[image: ]
	316. 
	Determine the value of x.
[image: ]

	317. 
	[image: ]
	318. 
	DEF ~ LMN.  If the similarity ratio is , what is MN?
[image: ]

	319. 
	Write the trigonometric ratio and solve for x.  
[image: ]
	320. 
	Write the trigonometric ratio and solve for x.  
[image: ]

	321. 
	Approximately how long is the building’s shadow (round to the nearest tenth)?
[image: ]
	322. 
	Approximately how long is the tree’s shadow (round to the nearest tenth)?
[image: ]

	323. 
	A ranger spots a fire from the top of a watchtower that is 300 ft tall.  If the angle of depression from the top of the watchtower to the fire is 39˚, what is the horizontal distance between them?  Round to the nearest foot.
[image: ]
	324. 
	A man spots the plane from the ground at an angle of elevation of 43˚.  If the plane is traveling at an altitude of 2500 ft, what is the horizontal distance between the man and the plane?  Round to the nearest foot.
[image: ]

	325. 
	Determine the length of PR.  Round to the nearest hundredth.  
[image: ]
	326. 
	Determine the length of TV.  Round to the nearest hundredth.  
[image: ]

	327. 
	In the given triangle, AB = 6 and BC = 4.  
[image: ]
Determine tanB.  
	328. 
	In the given triangle, PQ = 2 and QR = 5.  
[image: ]
Determine sinR.  

	329. 
	EF = ?
[image: ]
	330. 
	331. x = ?
[image: ]


	332. 
	Determine .
[image: ]
	333. 
	334. Determine 
[image: ]

	335. 
	 and  are vertical angles.  .  
	336. 
	 and  are a linear pair.  .  

	337. 
	
[image: ]
	338. 
	
[image: ]

	339. 
	B is in the interior of .  



	340. 
	R is on .  
.  RS = ?

	341. 
	M is the midpoint of .  
.  DE = ?
	342. 
	 bisects .  


	343. 
	 bisects .  

	344. 
	L is the midpoint of .  
.  LM = ?

	345. 
	 and  are complementary angles.  .  
	346. 
	.  



	347. 
	EF = ?
[image: ]
	348. 
	
[image: ]

	349. 
	N is the midpoint of 

	350. 
	 goes through 



	351. 
	 bisects 

	352. 
	 and  are supplementary angles. 
 

	353. 
	 and  are complementary angles.  

	354. 
	B is on 


	355. 
	

[image: ]
	356. 
	
[image: ]

	357. 
	

[image: ]
	358. 
	
[image: ]

	359. 
	Use slope to determine if  are parallel, perpendicular, or neither. .
	360. 
	
[image: ]

	361. 
	Determine the midpoint of 
	362. 
	Determine the distance between .

	363. 
	 
[image: ]
	364. 
	
[image: ]

	365. 
	
[image: ]
	366. 
	Determine 
[image: ]


	367. 
	 goes through .  
 and .  
	368. 
	G is the midpoint of .  
.  

	369. 
	
[image: ]
	370. 
	
[image: ]

	371. 
	Determine the midpoint of .    &

	372. 
	 and  are complementary angles. 
, .  

	373. 
*
	Which property makes the triangles congruent?  
If they are not congruent, write “none.”
[image: ]
	374. 
	Which property makes the triangles congruent?  
If they are not congruent, write “none.”
[image: ]

	375. 
	.  Determine .
[image: ]
	376. 
	Which property makes the triangles similar?  
If they are not similar, write “none.”
[image: ]

	377. 
	.  ,   and .   
	378. 
	.  If the similarity ratio is  then 
[image: ]

	379. 
	.  
[image: ]
	380. 
	CD = ?
[image: ]

	381. 
	x = ?
[image: ]
	382. 
	Determine .
[image: ]

	383. 
	Determine .
[image: ]
	384. 
	
[image: ]

	385. 
	 and  are vertical angles.  
.  
	386. 
	 and  are a linear pair.  
.  

	387. 
	
[image: ]
	388. 
	P is in the interior of .  



	389. 
	B is on . 
.  AB = ?
	390. 
	M is the midpoint of .  
.  DM = ?

	391. 
	 bisects .  

	392. 
	 bisects .  


	393. 
	L is the midpoint of .  
.  EK = ?
	394. 
	 and  are supplementary angles.  
.  

	395. 
	 
[image: ]
	396. 
	
[bookmark: _GoBack][image: ]


	397. 
	

	398. 
	R is on 


	399. 
	E is the midpoint of 

	400. 
	 goes through 



	401. 
	 bisects 

	402. 
	 and  are complementary angles.  


	403. 
	

[image: ]
	404. 
	

[image: ]

	405. 
	

[image: ]
	406. 
	
[image: ]

	407. 
	

[image: ]
	408. 
	
[image: ]

	409. 
	 and  are supplementary angles. 


	410. 
	Use slope to determine if  are parallel, perpendicular, or neither. .

	411. 
	Determine the midpoint of 
	412. 
	Determine the distance between .

	413. 
	 
[image: ]
	414. 
	
[image: ]

	415. 
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